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(@)

(2) 2013

State which of the following statements are True or False
5x1=5

(any five) :

i o 7 @ P O T S ST
¥ (e ) | |
() A valid argument wi]ll always have all true pre.rr'l-ises
and a true conclusion. |

T 3y AR H T T SR SR T
frsset B 1 '
@) Falla;:y of Composition is a formal fallacy.
Tefd W TH STHIRE A T
(i) Proppsition ‘A’ has a distributed subject tgrm.v
‘A b WRed W A A
.(iv) A standard forh categorical proposition contains

three terms.
TF A AR RIY qehered | A 99
g T

(v)  “Shorter Truth Table’ is the same as ‘Reductio ad
absurdum’.
‘oY T wreit’ qen ‘ REah te weweEH ' WA
Hol IR

|

)

(3) 12013
(v)) - ‘AAA’ mood is valid in figure L ‘
‘AAA* FE FUH STHER H A Bt ¥
(vii) The (iuélity of a proposition; is changed in
i \obversion. | ‘
Wﬁﬁaﬁmm@.ww,%t.
Fill in tﬁe blanks (any five) : 5x1=5
fo e @ O wfm (P @D
0) If a’prop_osition is.true, its_ contradictory

IS tevreerereeieeeereienennnes ;

(i)  The conclusion of an ........................... argument is

probable.

R T E———— ... of an ‘O’ proposition is

j%l

P.T.O.



W) .

w .

(i)

(vii)

(4) 2013
In a syllogism, if both the premises are universa]

and the cbnclusion is particular, the fallacy

committed is e ¥

afe et = <R ST A

Two propositions are called ........................... if they 1

cannot be true together.

ﬁﬂaﬁm@mﬂwqéﬁ,aﬁ

If one premise is negative, the conclusion must be |

..................... -« in a valid syllogism.

qﬁ’@mﬁﬁumﬁa}ﬁw

A state_ment form which is true under all conditions ,

is .
calleda ... . - statement form,

PR TR W o e § v @

(a)

®)

(5) 2013

Answer the following (any two) : 2x4=8

e & S AT (FE D

(/) - Explain the distinction between a sentence and a .
‘proposition.
A AU A # e e ﬁf‘am

(i) Write-a note on the concepts of truth and validity.
mamé&maﬁ aawaﬁmwﬁmﬁ
fafe | |

(iii) How is-a deduction argument differentv from an

inductive” argument ? Discuss.

'#Wg&amﬁmgﬁaa%@
fmr Bt ¥ 7 e WRRL

Explain thé notion of Existential Iniport. Can it rescue the _
Traditional Squar:e‘ of Opposition 2 Discuss. ‘ 5
O A I UROT HY AT hiford |
7% ORI fade o e Wb ¢ 2 fae
HITS |

Or/[3FaT
What is meant by the quality énd quantity of a
proposition !?f Explain with reference to the Traditionali
Square of Opposition. l
fordt qhaEd % O SR wRETr w1 wn o
2 W iy i % wedf & wmen #

| PTO.



(a)

(6) 2013

Translate the following sentences into their Standard
ngical Form (any five) : 5x1=5
e ol @1 3T A S AR
FIAR HITC (FE q)
@) A soldier is always respected:
w o wta s A €l
(i)  Any poet is emotional. . |
% off wf wEE A ¥
(#ii)  Not all trees are tall. ™
ot Ig 9 A Wi
()  Only children are innocent. -
FaA e § A B E
(v)  Birds fly.
T4 Sed %I

(vi) - Parents are never cruel to their children.

aﬁqwmﬁeﬁmac—nﬁ%fmw

T B
(vii)

No candidate appeared for the interview.

TR o for wiE Wt yoare =€l e

— . a

®)

(©

(7) 2013

State the Conversion, Obversion and the Contraposition

of the folloWing (any one) : 5

Frefafea w1 afted, wﬁaﬁqawﬁwﬁaﬁﬂm

(FR TH)

0] Some actors are comedians.
o A fogrs 21 E
(zz) No mountains are goiden.
i i g T A
If ‘All men are mortal.’ 1s true, determine the truth/falsity

of its opp051tes - 3

'qﬁ‘aﬁwwﬁa%l’w%ﬁfsﬁﬁfrﬁ

A H ey T Fuiia SR

‘Test the validity/invalidity of the following using the Venn

Diagrém Method (any two) : 2x5=10

frafafad =t Sem/s@wm 39 fan?ﬁr_ﬁfa I
St (1 <)

() EIO-IV
(i) EAE-I
(i) AOO - 11

P.TO.



(8) 2013

Or /3T

Test the validity/invalidity of the following using gy

rules of syllogism (any two) :

frefefea . ﬁéum/aqﬁwwqgﬁw %@aﬁaﬁi’

¥ wn @ feffa SRR (FE A
(/)  All snakes are poisonoﬁs.
No crocodiles are poisbhous. ’
Therefore, all crocodiles aré snakes.
o @ v Ay B
w1 s faten &
3T wﬁ TR T eR E

(#)  No football players are lazy'persons. :

Some lazy perséns are healthy persons.:

Therefore, all healthy persons are football players.

TR Feael foenet Terdt e e |
¥ oTo s o o
m:wﬁwwﬁawwg'

®

4

(9) 2013

(fif)  All students are intel]igent.

No astronauts are students.

Therefqre, no astronauts are i.ntelligent.

o foeneff AR ¥

wE off taRker et faemeff =@ %)

o: wre oft ARy wnh AftER W@ ¥
Change the following into standard. form syllogisr'n and
identify th‘éir mood and figure (any one) : 4
Freferfe 1 = & W w9 4 wafer s
ST g qen @end q%%rrﬁqi (FE TH)

- () Some logicians are mathematicians, so some

scientists are mathematicians since all logicians are

scientists.

WWM%%@EWM
€ s wef Teheest 'aﬁ'lﬁih‘ %l

(ii) All tigers are carnivores because all tlgers are wild

ammals and all w1ld ammals are carnivores.

mﬁ@xmﬂm%mwww
W%a&rmﬁwﬁwwmmﬁaﬁ
Tl

N\

P.TO.



(a)

.S

(10) ' . 2013

bolize the following using suggested notationg
ym |

Sx ]:5
(any five) f

ﬁﬁgmmwm@ﬁw%f@aaﬂ}
w0 ‘

()  Either India will export wheat or Bangladesh wij

not export jute. ' . (LB)

A wRa A Fraf wIm A S s

frafa & wumi (.B).

(i) | Smith will go to watch the movie if and only if his ‘

wife will go. ’ S, W) |

. T 7l < ST Af SR e Al IHR
it ST | W

(iii)  Either Bajaj or Honda make motorcycle. (B, H)

WA TS A el WX wfhe w €
(B, H)

|

() Cheenu will participate in the games only if his

father allows. (C F)

Eﬂi@?’ﬁﬁﬂmmmaﬁzmm
Tl 3| F , (C’F)i

(11) 2013
(V) Unless the plant is watered, it won’t flower. (P, F)

Wﬁﬁaaﬁqﬁ?ﬁﬁmw 398 Tt
?ﬁml ) (P, F)

i) ‘Neither is Monu hard-work‘ing, nor is he

intelligent. (H 1 )

‘hﬁﬂ}%ﬁm?ﬁ?%ﬁ?‘rﬁml (H, )

(vii) " If God exists then miracle will happen. (E, M)
I TR ¥ A =R am S (E M)

() Use Truth Table Method to determine which of the
followmg are Tautologous, Contingent or Contradictory

(any one) : - 5

frafafed & & s T, wﬁmmamﬁ
%WWW%WWWW%W
I (FE T&) -

O ev~q9. A>5@.q

@ P>@vAolgy~go~@on]

’

Use the truth table -inethod to determine whether the given

- -argument forms are vahd/mvahd (any onre) : 5

wwﬁfaﬁ:mﬁafﬁaaﬁf‘aﬁﬁﬁﬁmgﬁa

SRR Ju/3Y § (FE TH)
() fﬁ(g:q).(pvq)

~p~q9 l.pvg
@ (@>9>69>~p
PTO.



| Explain any two fallacies With_éxé}nples':f

el <t fodt G 2 A oTEn A

(12) 2013
Or/am

Use the shorter truth table method to prove the validity/inya); dity

of the following argument forms. (apy one)
g e S 35 el 4 e g ST e
fog Fifd (. T) |

@ . @oA>@v~n

[CINCEY M) EYCEY)

2x5=10

() Fallacy of Composition

iefa 2

(i)  Petito Principii

2013

(iii)  Complex Quersti(l)h‘

9 TA

12 | 100
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(a)

(2) ' 2014
State which of the following statements are True or False
(any five) : 5x1=5
frfafed § ¥ S S99 T O S9H § TR
(Fr ‘ﬁ?) : '

()  Both subject and predicate terms are undistributed

in the particular negative proposition.

YTt e qeharer § SRd adn fady
T T A B R

(i)  The converse of ‘A’ is by limitation.
A w1 IR W A E
(i) ‘For these reasons’ is a premise indicator.
‘T wRl § T SR TR gl
() In ‘E’ proposition oﬁly the subject tgrm is
distributed. _ o
wpr qdaE B AR SEd W AW B
4
(v)  Ina standard form categorical syllogism, 't].]e minor

premise is always stated first.
% T AER e gl 7 e
SUREE TR e foer S )

IC

(3) 2014
(vi) ‘Al S is P™is a universal affirmative proposition.
Wl S PR U W GRS qdham
(vii)y AAI is invalid in figure IV.
 aan g e 4 ey B ¥
Fill in the blanks (any five) : 5x1=5
fert wom wftw (% we)
() ~ Conversion of ‘O’ proposition is

.......................

(#) ‘A’ and ‘D’ propositions are ..................... to each

other according to the Traditional Square of

Opposition.
AT T TR W Ry v %
STIR 3MAH F Gy oo 3

(ifi) The Traditional Logic was propounded by

WW W % m S, a-l
In a valid categorical syllogism when two'

()

premises are universal then the conclusion will be

.......................

PO



(a@)

(4) 2014
(v)  Inthe i proposition both subject ang

predicate term are distributed.

(vi)  Contraposition of ‘E’ proposition is

Emﬁgﬁﬂﬁaﬁ? ................. s X

. (vii) In the Traditional Square of Opposition A

PrOPOSILION 1S .veevrvereriieiennins to E proposition.

W fady ot # A qehere, E qeh o

Answer briefly. Do any two : C 248

i A s A W o D A

0) Differentiaté between a sentence aﬁd a prc;position-
qE T oA H SR T i

(i) ~ State the difference between an /‘Indu!ctive
argument’ and a ‘Deductive argumgnt’.
s R R e e 3 S I
AT |

[63)

)

(@)

(5) 2014

(iii) Write a note on ‘Truth and Validity’.
‘g @it duar’ W ww fewoht fafery

Explain the classification of categorical propositions
according ‘to Quality gnd Quantity. 5
Tor R ufEr & AR Feifae deRarel
Eiiczulcilke e iy

Or_/m
Write an essay on traditional square of opposition.
WRra Ry a1t W ww fEy W.
Reduce the following into standard fo;m. Do any
Sive : _ Sx1=5
Fresfi =1 st ST 3 e 2|
Wt uter Wity .

) Many students are present.

TR B IaftEd ¥
(i) Few'ﬂéwers are not fragrant.
F® W T GEER W ¥

P.T.O.



(6) d

2014

(7) 2014
(iif)  Only citizens can vote.

FHIA | 4. (@)  Test the validity/invalidity of the following using the Venn

diagram method (any mwo) : 2x5=10

RS I firefofen =1 Suay/ sy 99 Y gr e

(v)  Not all players are tall.

(v)  Most policemen are honest.

() EIO- I
o0 faaret e 98 e ~ | | () FAE-1V
| (vi)  Criminals are never‘e;thical. B - ' (zi)  EAO-1
| m%ﬁmaﬂﬁﬁgﬁml" E ) ARA -l
(vii) Farmefs are always kind hearted. o . B L Or/3taar
far =i T B E | N Determine the validity/invalidity of the following using

. 1 the method of six rules of syllogism (any mwo) :
(b)  State the conversion, obversion and contraposition _Of 1

_ | Fretferfr =t ey s w1 Frokor =i 3
‘Some scientists are not philosophers’. 3 ©: gt = f%rf“q g aﬁﬁﬂg (aﬂs‘ g})
‘W afﬂﬁa? Tt & € W wﬁa’éﬁ, v ' (i). All snakes are poisonous.

No crocodiles are poisonous.
vhat
(¢)  If “All students are players’ is given as Bllee, ¥4

Therefore, all crocodiles are snakes.

it 9w Seder 9y ¥

o ep site
can be said about the truth/falsity of 1t OppO

3
propositions ?

Hﬁ"v%ﬁﬁmﬁf@ﬂ@%’m%ﬁﬁ |
R adare w W sten s FT
T F HEl S Gehdl ¥ 2

|
| ol T SwEher e ¥
wafery, 9t womss Ty §

P.TO.



Ui

(ii)

(b) Change the followmg argument into. Stand

Categorical Syllogism and indica

(8)
2014
No football players are lazy persons

Some lazy persons are healthy persopg

Therefore, all healthy persons are footba]) pla

‘ yers
w1 0 g feoersl sterht safm g
o O K WY = A ¥

oy, QO wRy AR eaa fom §)
No tragic actors are idiots.

Some qomedians are not idiots.

Therefore some comedians are not tragic actors.
F o gee T doRE & €
Fo wHfead SagT B %)

WTmﬁﬂqi@ﬁﬁmﬁ%'

ard Form

ate its f18Ur¢ and mO°

(any one) -

gﬁﬂﬁsﬁm L

ﬁmﬁq@?wﬁﬂ@ﬁm
(¥ TH)

44

(@

(9) 2014

(/)  Some philosophers are not good orators. All good
orators are successful person. Thus some

phllosophers are not successful persons.

@@Wﬁmﬂﬁ%lwﬁa—v@m
TR AfF B gl 36 TER FY EGREd
TRe SRR el

@)  All tigers are carnivores because all tigers are wild
animals and all wild animals are carnivores.
¥t S TRt ¥ i Wl w Sl Set
% ok wft Set SHeR AERR B
Symbolize'the following using the suggested notations
(any five) : 5x1=5

mﬁwm (= )

() Unless you be on time, you cannot board the

plane. (T.P)

& T T Y W IE 8N, e faum

P.T.O.



(10)
2014
(i)  Kirti will dance if and only if-
Yy if her partne

dances.

A T A SR AR g
Eiculll &, D)

(iiiy Teachers are either enthusiastic or unsuccessfy]
€Y

ST A A SeTeatn B E A S|

(E,U)

(iv) Ramesh and Mahesh both will not be eleéted.

R, M)
W iR wRw S g TE W@ ® M)

W) Sushant will participate in the games only if his

father allows. S, P

g Bt # At W@fﬁwﬁﬁﬁrm o

=l s, F)
(vi) Either Red or Butch is guilty. » (RjB)
(R, B)

o A Y W gF W ¢

: o 1%
(vii) If it does not rain, we will go to picnic. (R, )

ﬁﬂﬁﬁﬁm%ﬁﬂ)
(R

(K, D)

®

® @o@on=

(11) 2014

Use truth table method to determine which of the
following statement forms are tautologous, contingent or
contfadictory (any one) S5 |
W—Wﬂﬁﬁfﬂmﬁa’?ﬁﬁaﬂfmﬁﬁmﬁ#@ﬁ
ﬁ@ﬁﬁwwwmmﬂwaﬂmmmwmamﬁ

¥ (PR Teh)
[g2@>0)]

(i) @-g@>lg>P@>nl

Use truth table to determine the validity/ihvalidity of tﬁe following

argument forms (any one) ': o 5

W@a%aﬁﬁ%ﬁ/ﬁwﬁﬁﬁaaﬂm

- @)

(FR TH) :
» eve>E.q
pc~gq
Ip v q
pP>Ogq
~ BV ~p
[ oo~gvy

P.T.O.



2014

(12) : - 2014
Or /AT

Use shorter truth-table method to determine the validity/invali_dity

of the following (any ome) !

R a-grof fafy mﬁﬂﬁﬁf@ﬁﬁ JEAT/ ST

s (#% W)« -
0 [p:‘(;;,: ANo~@en ' |

@ [o>9 - ~pl>~q

AExplain-,a‘nd illusfrate any fwo from the following iﬂformgl

fallacies : " : o 2x5=10

@ Argufnent Ad Ignorantiam

(i) Argument Ad Bacculum

(iiz‘). Fallacy of division

iRt €

12 : 100
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3384

(c) Attempt all questions.
gl gt & IR AR
1. (a) State which of the following are true or false.

(any five) :

1x5=5

Rrerfeiad § @ B, STUAT I T (B
a= )

(i)

(i)

If the antecedent is false, the material
implication will be true.

i gaenit 1o B, @ a”{im'cr SR T
BT |

Truth table method is a method to
determine the validity/ invalidity of an
argument .

geg-areeft Ay giRe # Saar/ e
frerffRea 3= 1 T FoTel 2 |

(ii) A statement form with all false

(i)

(v)

substitution instances is a tautology.

@WWWWG‘WB‘“W%

e gdsT 8T 31
O proposition is the contrad1ctory of A
proposition.

O Tehar, A e T ST ST |

In E proposition the subject term 'is
distributed but the predicate term is not.

B webar & Sied 0w wra g ¥ o
ey g5 STeTw BT © |

2

3384

(V1) The middle term appears in both the

premises but not in the conclusion.

- HEH 9% AT AR § sufkerd Sy &

a9y orepy F =& S

(vii) A syllogism with a particular conclusion

can have two universal premises.

SAgrard fosest aeft saragie $ A=y
SR — o T 21 Tehd |

(b) Fill in the blanks (any five) :

1x5=5

Reo =t = off =i (@ i) -

(1)

(i)

Informative sentences are called

TIRHD AR ... A T |

Both subject and predicate are ........ in
a particular affirmative proposition.

T ST ThRIHS Teh aTF H Igaed
AR ¥ QY L 2

---------

(iii) The................. of an argument is the

proposition that is based on the basis of
other propositions in the argument.

et gfe ... - e ThaR BT 3

reenr farT o= qehareral & STTeTY 9} e

ST B

3 P.T.O.



3384

. _ |
'No men are Women’is the............... of
No women are men'.

q,:,ggﬁgwaﬁa-ag%' g o Bl gOT el

(iv)

(V) IMeccooeeeeees the subject angi predlcate
term of the proposition are
interchanged.

SP—— ¥ Iy e [9g 9w W
gRed B © |

i) J N S a proposition, change its
quality and replace the predlcate term
by complement.

THA ... & fore @ 7T aReds
ﬁ T quT SE® [@9g B IR SO
2T fpar ST B
(vii) The subject term in I proposition is

2. (a) Answer the following (any two) :

4= 2=§
Frefofa & Sex AT (HE @) -

() How is a sentence different from a

proposition? Discuss with appmprlate
examples.

mﬁm%mﬁmwfﬁﬁ% ? IO TIETT

qfea fa=mT $Hifta |

4

3384

(ii) State the distinction between deductlve and
inductive arguments.

FFETesT o ST gREE B ervax s |

(iii) Write a note on conversion.

et o wifare fereeft faf |
(b) Discuss the distribution of terms with
‘examples of categorical propositions. 5

N AT P |

OR
STqT

Explain the Existential Import with appropriate
example.

SUGH IaTeIVT Aied Wmaﬁma’%ﬁm

(a) Translate the following sentences into
standard form. (any five) : 1x5=5

- Frefolen arrt B ST A ST
ST FHITC (B af)
(i) Not every writers are sensitive.

TA% A Gagsher 78t 21 |

(ii) Only old persons can enter into the park.

Faet 5 @R & T T R w T ¥
5 £.T.O.



3384

(1ii) Each fruit is nutritious.
;ﬁﬁ#SQRﬁ‘ﬁﬁ§§5?§HT§§l
(iv) Dolphin is seldom seen in Chilka lake.
1 .
Foreep 2 7 SR et & é@ﬁrsnﬂﬁ§§|
i Childreri are innocent.
g AEH © |
i) Terrorists are never ethical.
parel et ot Afep TE B
(vii) A few plants are medicated.
75 0 ol 27 ¥ 1 e
juicy’ 1 LSE, then wha
‘All apples are juicy' is FA , the :
© Icfan be ]i?np}erred about the truth /falsity of 1tg
opposites. ; -
Qﬁr%nﬂimaixﬁnif%‘aﬁﬁ&:%ﬁéTg%ﬁBﬁaqfﬁﬁEﬁr
%ﬁmm/amaaﬁﬂékEﬁ%fiaaraﬁjﬁﬁ?%ﬁﬂﬂTGﬁ%ﬁ%ﬁT
?I

i 0 i and
‘(c) Give the conversion, obversion

(v

(v

i ne) - .
contraposition of the following.(any one) :

R 3 o, SRR T SRreerd T |
(S T) :

() Some soldiers are courageous.

e Ry =reTgT B ¥

6

4.

3384

(ii) All footballers are good lé
yers.
=B :%

: I
(iii) No soul is mortal
MUSUMECEE O F ¥

(a) Determine the validity

: ) /invalidity of the
following using the Venn

Diagram (any two) :
| ’ 5x2=10
Fr=ifaied & § R6=dt & & Serar/ ordvear =
Freieer 3 emefy Rify & =9fme | Géﬁ%én;

(I) ALl -. IV

(II) AEE - I
(I1I) IAL - II
(IV) OEO - III

OR
HEqr-

Determine the validity/ invalidity of the

following using the Method of six rules of
syllogism (any two) :

R 2t e/ idreray b Frsiteer =mgfen 3 o
Pt 2 fafr & =BT | (@ &) -

(i) All women are beautiful persons.
All beautiful persons are adorable.
Therefore, all adorable persons are women.
A wfeTd gat =Re ¥ |
T gax =Afe e
SR et eTrey wRke AR ¥ |
7 P.T.O.



3384

(i1)

No Chinese are vegetarian.
Some Indians are vegetarians.
~.Some Chinese are not Indians.

g oft =N eeRTerY TE B |

B AT AR & |
- R T R

(iii) Some philosophers are reformers.

(b)

All philosophers are idealist.
".Some idealists are reformers.
%o st gaes e ¥

T qrefferes STrestaret 2 ¥

ST: P ST G B S |

Change the following argument into standard
form categorical syllogism and indicate its

*

figure and mood ( any one) : 4_,
M= gRe 1 Su AS SR A
ng%ﬁﬁaﬁqaﬁrmamaﬁﬂw N

A (hIS TH)

- Some players are not healthy because 'ail

healthy persons are handsom and no
handsome persons are players.

@Ww&ﬁ%mmﬁwwﬁﬁ
YT IR B+t g1 =afe Raenst 781 1

8

(ii)

3384

No fighters pilots are aged persons but all
fighter pilots are courageous individuals,
hence some courageous individual are not
aged persons.

-aﬁéﬁmﬁnmamﬁawﬁsﬂﬁ%w

(a)

(ii)

aHl grp e =as aredr @i B, o g
HTeE =Rs g e T E

symbolize the following using the suggested
notations. (any five) : 5

SISO HITT (B3 i)
Not both Navin and Pankaj will go to the

market. - (N,P)
AfaeT ST} 96T SN TSR A8t SITa | (N,P)
You will receive the certificate if you
par;dcipate. (R,P)

T TS e A g e a @ 1 (RLP)

(iii) Unless you be on time, you cannot board

the plane. (T,P)
ST T TE IR E 8, ona R e =
SEand (T,P)

9 P.T.O.
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(iv) Kirti will dance if and only if her parther
dances. (K, D)

it ArRT AR SR Dawr afk e TR A=A

gl (K ,D)
(v) Ifit does not rain, we will go to picnic. ( R,P)
g% auf Tl eFh, @1 89 i s (R ,P)

(vi) Teachers are either enthusiastic or
unsuccessful. (E,U)

STEATH AT AT IS Y Bt & A1 319% | (E,U)

(viijRamesh and Mahesh both will not be elected.

AT SR AR AT G AE oM | (R ,M)

(b) Use truth table method to determine
which of the following statement forms are

tautologous, contingent, or contradictory :

(any one) _ S5

ATt e e Fraff AR B Rrefia
T Y P-T H ST AT, TS STET ST
TI(RZTH)::

Q[P +q vV ~r]slp* (@>7)]

(@ pe@vr)] =[P °q)vper)]

10

3384

Use truth table to determine the validity/
invalidity of the following argument forms. (any
one ) : _ 5
FereRTIRET gRe SBT3 erar/ ovverar Fraffa i |
(P TH)
i poq

dq st ffi. Pt
@ (p>~q)

(q v~r) /:@(pe*~r)

OR
STerar
Use shorter truth-table method to determine the
validity/ Invalidity of the following ( any one) :
ST STITRIT (IS TH )
@ [Pva>rtrlo(p va)
@ (po>q)or

/[P v q. |
11 | P.T.C,
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7. Explain and illustrate any two from the following
informal fallacies. 5x2=10
- fr=faiaa aepardt § & el &Y @ dieTeYeT AR
ST |
(i) Begging the question’
Ieheh a1
(ii) Fallacy of accident
(iii) Argument from ignorance
o qEew
(iv) Fallacy of division

12 40C
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1. (a) State which of the followings is True or
False. Do any five. . Bl
et & @ B W A T oraeT ¥
IS gi" B | |
(i) I & O propositions have existential
import. - ‘
1 A0 TehaTerT H ST Ay ¢ |

(iij Some categorical ‘proposit.icns are
neither affirmative nor negative..
R AREEL] g 7 A gerOEE B ¥
T e |

(iii) A sound deductive argument is one that

is valid and has all true premises.

Bl a1 foraes it STeT- AR w8 |

(iv)] The negation of any false statement is

false and of any true statement is true. |

- PN oI T Tt T PRy oTuem B oug
Y 9 IHharer & 9 |

(v/ The middle term appears in both the
premises and in the conclusion.

T U STER-arer) Qe forsepe &) safeerd
BT S |

e —————— -

3385

(vi) In A Proposition the subject term is

distributed but the predicate term is
not. .
A Tharm § SRegue T BIAT & STafh
99 o srema BT 8
(vii) If both the premises are negative, then
- the syllogism cannot be valid.

IR ST SR ARy Toprrenss 8, @ Brde

=TT GRE T TE B TR B
(b) Fill in the blanks (any five) :

Rep @l 6 g iR (@ dfg)
(i) Middle term must be ............... in
syllogistic argument.
T FRUer =g gie & wem qg
T B ‘
(ii) ‘Some S is not P’ and ‘No S is P’
‘ 2 { to each other.

ebsacvoroencona

(iii) The contrary form of ‘All students are
politicians’ is................

‘el B TeHIas 8 @ fada @
................ B

3 P.T.O.
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(vi)

propositions cannot both be trye

pbut false. . |

. @ arRl e AT ST & TEY &)
TR s s s ofa syllogism is determined
by the position of the middle term in
its premises. . =
fepehy = OO F Frefor
ST aﬁﬁw?qm EHREST % SR
QR fparsmar 81

In contradictory relation bpth the
propositions are quaiitatively and
quantitatively.......

T e H SNl qehate IO e
trﬁrrrvrrﬂ?sz?xcr?f ............ E?i% ‘6:

(viii) If premises are true and conclusion 1

(i)

false, the argument is................

IS STTETETR e WW&W% aa

The truth function of conjunction 1s

true when both the conjuncts

have........... Value.
AT T SR e e Sy & o S
REIEEICo ;< A sl |

3385

2. (a) Distinguish between. (any two) :

‘ 4x2=8
T HRY (HE g ) ‘

(i) Sentence and proposmon
A AR TRy

(ii) Inductive argument gn
argument.

- STTHSE GRE 7T Aoy IRE |
(iii) Truth and validity.

AT T ey |
(b). Write a note on Existential j import,

AT m&u‘fﬁwvﬁ%@q,

d Deductivé

(¥}

OR
SHZyqr
Explain the traditional square of opposition,

AR Ay et - I =TT Fifdne |

(a) Translate the following sentences into their
stdndard logn al form {any five) :

3.

.e.xO 5

Frefafes gt @ owd et o HE e e
efrj,am PR ()

5 PT.O
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(i) Afew players are healthy.
o & Raeel W |
(ii) Children are fickle.
82 =3 =9 o |
(iii) Every students are intelligent.
S BT HETel B € |
(iv) Only books contain knowledge.
Fae garhl o o MR ¥
(v) Old people are never conservative.
g AR I A wfeard T 2 |
(vi) Merchants are sometimes pirates.
AR H¥T-H T 31 8 & |
(vii) Everyone cannot be a leéder

S A ST € a9 e |
(b) If “All pilots are healthy” is given as FALSE,

determine the truth and falsity of its opposite -
proposition. ‘ ‘ -9

% R R e e 8 ¥ o 3,
T R A o e Nz sraear
Feife it

3385

(c) Give the conversion, obversion ang the
cqntraposition of the following (any oné) . 5
e & e, sfe o SRaRads
dAT (dEww) -
(i) No Scientists are sinners -

I T e e s ¥
(ii) Some students are voters.
‘BB R e ¥

(a) Determine the validity/ invalidity of the

~ following using the Venn diagrams (any two).

. Sx2=10

Frfoien 3§ & B8 @ o Yumr/ sl =

frafror B sty Ry & whiftm

HAAA - III
(I) AO O —II
(III) EAE — I
(IV)AII— IV
OR-
T

Determine the validity/ invalidity of the
following using the Method of six Rules of
Syllogism (any two).:

| _ PTO.
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PrfRad @ JEaT/ STy fyafer ~=gRe &
. frEt 6 Rfy § it (@ Q)

(i) All politicians are selfish.
All writers. are selfish.
Therefore, all writers are politicians.
Tft TorRs @t g 2
ah d@s e e -2
o et @ TS © | |
(ii) All proteins are organic compounds.
Some enzymes are organic compounds.
Therefore,Somé enzymes are proteins.
Tl M wites s e g |
BB UrEh < S AT 1 €
O BB Uk T SN, 81
(iti) All Hindus are Vaishnav.
No Christians are Vaishnav.
Therefore, no Christians are Hindus.
R e ¥
AR e R W B
8 |

3385

(b) Change the following érgument into standard

form categorical syllogism and Indicate its
Figure and mood. (any one) : 4

fFrfoiead gRe & Su A em e
=rghie § SR o Swe oneRr ger
AT TR (B TH) -

(i) Some evergreens are objects of worship,
because all fir trees are evergreens,

and some objects of worship are fir
trees.

BB AW - B IS PN B g
2, Fif Tt e ehar SR @Y A
2

(ii) All saints are theists and no doctors
are theists. It follows that some theists

are not Doctors. .

Tl A1y SEREr B T SR HIE A SR}
- T B R B e B
BB €Y S el 2 |

9 P.T.O.
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S. (a) Symbolise the following using the suggested

notation (any five). '~ 1x5=5
SRITHISLOT T (i o)

(i) Unless you be on time, you cannot catch the
‘bus (T,C). |
ST T THE I TE g 6 e hg TS |
(T, C)

(ii) He is neither a Japanese nor an Indian .(J, I).

e | A STarl § ol T & WA (J)])

(iii) A man is successful if and only if he is
Honest. (S, H)

HE ff AR a% T B © AR eI} E‘f‘oﬂﬁ RISy
T8 AFER 8l (S H) |
(iv) Sunder and Ravi both will not pass.(S,R)

| Waﬁ'{ﬁﬁ@wﬁﬁﬁus,m

(v) It is not the case that you complete your
graduation and you are not awarded Degree.
ic, Dj
ﬁvﬂé%ﬁs@m@ﬁwﬁ%ﬁﬂﬁ
& s (C,D)

10

3385

(vi) Logicians and.mathematician are critical
thinkers (L,M)

THIATET T ITeTE B = g & | (L, M)

(b) Use truth table method to determine which of
the following statement forms are tautologous,
contingent or contradictory: (any one) S

T-areel) fafyr grr Mg S % M=fearad
T BT T HAA- HATHT TS, TEATE 37T
Tl 2 | (PE TH) ¢

) =q =.lp~@ vp)]

(j(po>q) o [PPv~(* 9]

Use truth table to determine the validity/
invalidity of the following argument Forms (any

- one) :

SR | e & s & Pifafa S (@
REY)

OP > ~q

~q:r/:.P3r

LGP 55 ~r)

roq /P 5 ~r

11 P.T.O.
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OR
SrEar

Use the shorter truth-table method to'determine.
the validity/ invalidity Of the Follovvmg (any

one) :
TR eﬂaﬂvﬁmwﬁiﬂﬁrﬁﬁﬁ%m/
o e, (P12 W) -
@ P o (v -
(q ¢ 1) o P/ . ~ P
W P o5q)epPvyg
=P &g /:,pvq

7. Explain and iltustrate any two from the following
informal fallacies : Sx2=10

‘rmwmx@aﬁ@ﬁﬁfaﬁéﬁr%a%ﬁ?wm
I
(1}  Appeal to Pity
S TP A
(ii) Fallacy of Accent
SREIECE]
(1i1) Complex Question
ST 99
(iv)  Fallacy of composition

BT Q|

12 : 500
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